[EXIMA 15 oH] 2 SIAHHEES2 221202 Sl

HEHs x 2l 7| z+
- .
HOAMHX SRS IEM
01-01-C—-2402634 7
R E=R Lt (F)s4of o =} A AARSEEHMS 117-81-83365
gexiyd: geolst
MERFE A Mg ZMF o252 10 sH = 2| otELY| 901E o2ty ol 2hx 1 010-3901-9353
m A 02-6280-9688
B3 4ZY ez seer | 3nFY FHof EELE Aolg TV
el Al F4of e RS ] F4of AlZE 6% 0X (A2H
seing ye
LI P=F=ol3 39 Thg
A Mol (R W WE)
[
HE]
Al Abl AR AN
A B HE HEZH
aM, HEZH! st
sl=at = AlRtsiM R
=40 LATBAE
del7e 87 MM~ AEEH~ 51T A0 E & o] SHE?
T olF ZHEHBH~ MEXH A SR 2 AlSHSIA 21
geEMEx=H
WE A 27| 8 E B!
w7| e AeH
EEIE-
olH, 3t 37|~ gt o=~
22 1A~ MBE TP ~
S22~ ClO|{ E SHHAM ~
Mol
]

g=guxsdo’lT AS

D= A HEE 99 Zol

A3 gy

MolHH bS5 Bt
Alojo| & AolHS 24-N1-23-39

7|Et




2

RS

Ho

02
HH mo

00 &

OonE o of

50% ZEt °._|3H

& 280 113 #loIAH X!
2M|E oAl 12k
A7 Lot M EM !
18 AEH2N18S ot EA
100% M gt= = 5

Al HIZ FE5MR!

=

A A A

oH.BIEE MES=HE
aehM, AEZE st
St 35I| 2 Al RSN 2

5t

|3

i

7|

ol ElLtne?
ol obgych

71

e
e
fob

ikl
1
[N
0

=13
G

Pl

A
=l

g

0z
lo
e
fol

Melolg

24-N1-23-39

7|Et




[EXMA M1E HH] 2 FIATHEL S 2 222 Sl

kI
Hr
0
Q2
o>
L
jnl

0x
11°)
Ho
=
0
X
i}z

(]
=

I, 512 37~ B o=~
JHEA~ B 7P A~
o2~ C}lO|0JE BHE A~

Fopn

Ko oo
—UF(?I]?EHIIO
ro

s
= =
ojsto R He Skl 3l

o] ELENR?

o
=
2 EkA Zo| ofd e

U nE ofm ofy
2

& 280l &5 #lo[A7x|! BHEF 19,9662
2H|E FofA| 18R FItERR
7 et M FH MR
18 MERI 1SS of EAILE 20FA
100% Mot 25

A HIZ FESHM !

r
r

Ab A AH
oA .S EE M=
aeiM, HE=H! stR e

st2 et 2 AlstatH 2

7| Et

e
e
fol

ikl
10
[N
0

W Bt

0z
lo
e
fol

Alojo| A 24-N1-23-39

7|Et




[EXIMA 15 SH] 2 PDANHAELS S 22l S nReAsHct
AAE UE(ASH)
seE MEx=H
WAA HET| B E sl
7| gE A
o|Hl, 5t& st7|~ st Ho = ~
22 /A~ ASE JPHA~
st o2~ ClO|O| E SHH A ~
Lot UL E B~ FETE Jka
DFogte 2 Mk Skl shl
o, MEs=H!
IR 2 A
HE5e =d™st!
chl X 25 251
LESAE)
Zm M ExEHol| T20| HLEnR?
SHE &7l = YgkalEo| ot ch
HE=HE8 =HAE!
HESHA cf EAIHAM
WL S5 M F=HE~ Clo|o{E~ OK!
HExEH A 5t 8
3HEof E 3HE o1 22 252 Cf
SEA2E 3Lt O
2| 2ato| 7ts8t 1g ™ 4 olA!
w2 w2 etobM OfCIMLE ZHE S EM 21
50% ZEt ¢ls}
Z 250 12 #0|H7X|! Bt 19,9662
oM E FofjAl 12H2] FItatel ZhA|
E7h ek HEH e 2 A 2!
15 MY RN 1ES Cf EA|DE EB0HEA|
100% MY g2 =&
X2 HZ2 T25IM 21
[
xtef]
Jle Hels
SEE-E: eEHE
Mojo Aol S 24-N1-23-39

7|Et




(=X M AL 1

0
0
oR

ol
<0

=
=

1712+ ~12.31L kx|
&+ 15 40l# 50% &

2]

=
=

H g

RILYIHZ / 0Z=2| 2HH|oHAMSHY NO!/ MEE EALD 22HFA| 100% &

=
S

EdAGIEE
cHEH 18 +1
2MI E oAl 1

[st

K0

=

|

Al 100% 2t

Kr
ol
T

8

18 EAlR

=]
=

b

=]

A AH A
oA B!

Rl
Klo
"

uls
ol

7!

F77]1
el

S
e2r

= ZHEAl M FHE Al
st Ho 2 clo|oEl

=
T

b

HExH & oA AR?

o|H

9

4
o0
30
iod

60

of
al
i1

k7)1

ol

<0
0

2r

S

L SEQUA|

n

2E FE25H!
&0l otdLch

F77]1

S

e2r
Al
Al

=
T

b

n M EZEHo| 20| ELEIR?

270}
e

ke

7| Et

R

ol
<a

24-N1-23-39

7|E

CEE




[EXMA M1E S]] 2 FOANHELS2 22e2 Sl nf s

Q2
o>
L
jnl

0x
11°)
Ho
=
0
X
i}z

sl QeS|
5 x% cholof £ OKI

S

HEEH A 512 st
120 = 15 o
23 282 cH
£ AI2E 5l o)
22 23 Its1 13 ™M 4olFH
w2 w2 2hotM
ofC| MLt ZHE 5HA||
119,8008! 50% ZEt Q15H BHEH 19,9669 (F3)
18+HSHE2+1Z Mol 7I™ =571 st 19,9662 (F3)
2M E FojA] 12k FI}Etol REA|
ZEE7H et x{|giaHEA1|9_l
15 ME2Ict EAD
ETHFA 100% MY E_P%EZ%

xF HIZ FESHMR!

AH AR A
oA . B!

gEAMEs=H!

EEEEELT
Welx 92| 8 E Fll

ol skl 3 Y
2 kA AE S

st Z 22 o] El

Les YUs T~ PYURE Yo

Bl g
o BH SEUAA B

St
7| E} HHS 6
Mo|lHH bS5 Bt
Alojo| AolHS 24-N1-23-39

7|Et




[EXMA H15 58] 2 BIANAEEES 2208 Sa nREUAUC
o2 WE(AS)

25 25!

MEzxHol £20 5LfnR?
1Zo| ofgHch

ZHE =HAE!

s et B
Sz c}o|0|E OKI

HE=H
150 = 18 o

22 282 cH

S48 AI2E sl o)
22 HEHItsIDZ ME
w2 w2 2otM

ofC| ALt ZHE SHA||
119,8002 50% ZEt 215} SHek 19,9662 (F3)
15HSHE2+1Z Hol7 7|

2M|E oAl 12k FILEl FhA|

7 Lok M EM )

15 MYEEIct EADE

E0HEA| 100% MY st 5

A= HIZ FESHA !

ol
ok
Hu
2
S

# ol

19,9662 (F-3)

g

Ab A AH

AlAH
Ex & o2 PAA?
aTE

ZHE St M E=H et E 575

gEANES=H
WHA SHET| FE !
7| gE Al
7| Et HHS
MolHH bS5 Bt
Alojo| AolHS 24-N1-23-39

7|Et




[EXMA M1E HH] 2 FOANHELS2 2222 Sl nf s

2
o>
L
jinl

0x
11°)
Ho
=
0
X
i}z

old, st et !
JHEAN A E THE A

I 7o 2 Clo| El

B YYs - FHEE YYD

2
T-0F SH SEUA| 2|

kI mE rok ol

= 3
|

77|

2

=
£y
|5 &t

-

ol

& =5t

1Z oy
A I

HOon2

m o2

P ME=Ho| =20| ELf1e?
kAl Z0| ot cH

HEZHE =HAE!

me A
T

I

ZHH S LR F|
HME=xH Clo|o E OK!

HE=H i d 512 5ty
180 =18 !

28 252 cH

S8 A2 E st ol

22 22 Jts1 15 ©E8 HolAH
w2 w2 ol

OfC| ALt ZHE SHA||

119,8008! 50% ZEt 215} SHEH 19,9662 (
18HEAMEE+1Z HolAH 7I™ 257 st 19,9662 (£3)
2N E FojA| 12H FIhErel RhA)

Z7H Lok M s EM !

15 M2t EAIT

S0EA| 100% MY g5 5

X2 HIZ2 FE5HH !

18 +18 M EE + 235 40|71

50% &9l 59,9009 BHEt 19,9669 (£3)
oM E FojA| 12k FI}Ekel
oM E $HEt 36,6009 (£3)

7| E} HHS 8
MolHH bS5 Bt
Alojo| AolHS 24-N1-23-39

7|Et




K
o]

0
0
oR

o1
<0

)FHo

K-

Tl

(

/7€ ol I

2]

ol

o

(=)
=2

2 Hto|

2au|

H =¢:ch

72l

S
S

ojuy

740l 21)

oK

of
al
i1

7| Et

@
a | $
joll N
R QN
B
0 <

I\
RO of i
Ll Tl ]
or o ~
[ | oo

u

or

or

A




